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14
17






3,166 17,743 19,611 17,357 21,064
750 3,797 4,138 3,662 4,445 16,792
23 104 9% 85 103 211 H13 H14.131 H14 H15.214 H15 H17 H16.217
18 70 74 66 80 308
19 75 70 62 75 301
810 4,046 4378 3875 4,703 17812
100 501 504 551 741 2507 H13 H14.131 H14 H15.214 H15 H17 H16.217
309 2750 2414 1115 1115 7712 H13 H14.131 H14 H15.214 H15 H17 H16.217
1219 7326 7,386 5541 6,559 28,031
11,088 17512 25,165 47,153 49,696
2627 3,748 5310 9,949 10,486 32,120
78 103 123 230 23 77 H13 H14.131 H14 H15.214 H15 H17 H16.217
65 69 95 179 188 596
66 74 89 168 177 574
2836 3994 5617 10,526 11,094 34,067
359 610 945 1333 1463 4710 H13 H14.131 H14 H15.214 H15 H17 H16.217
5518 7,404 10860 5449 5547 34778 H13 H14.131 H14 H15.214 H15 H17 H16.217
8713 12,008 17422 17,308 18,104 73,555
5902 5071 4818 5151 4,847
1399 1,085 1,017 1,087 1,023 5611
2 30 2 25 2 145 H13 H14.131 H14 H15.214 H15 H17 H16.217
34 20 18 20 18 110
35 21 17 18 17 108
1510 1156 1,076 1150 1,082 5974
311 27 262 233 218 1201 H13 H14.131 H14 H15.214 H15 H17 H16.217
1,180 709 549 194 176 2808 H13 H14.131 H14 H15.214 H15 H17 H16.217
3,001 2132 1887 1577 1476 10,073
1219 7326 7,386 5541 6,559 28031 1
156 876 1572 1991 2,664 7,259
651,175 696,918 391,539 231919 205,174 321,796 + <+ 12
8713 12,008 17422 17,308 18,104 73555| 1
485 1468 2836 3,989 4,688 13,466
1,497,079 681,653 511,930 361,578 321,815 455190| + +12
3,001 2132 1887 1577 1476 10073| 1
16,560 18,270 20,690 22120 22120 99,760
15,102 9,725 7,600 5941 5,561 8414 + <12




13

H14.1.31

6,277,955

122,115

20,270

7,565,395

204,430

26,829

0.0198

0.0033

0.0036




14

H15.2.14

3,004,880

40,674

10,572

3,667,001

51,566

12,380

0.0137

0.0036

0.0034
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17

H16.2.17

2,869,617

36,302

9,453

3,401,317

38,532

18,988

0.0128

0.0033

0.0056




@

0.5

0.5

@

= 1.5 + 12 x 365 = 45.625




13

H14.1.31

¢ 19

2,261,233 (0.220)

1,484,375 (0.144)

2,608,031 (0.253)

-

A 2,251,119

3,944,172 (0.383)

10,297,811

2,261,233 + 1,841

. 287 +

( )
( )
12
2,261,233 (0.281)
> 7,565,395
1,841,287  (0.229)
B ¢ 5 26,829
481,297 24,353| |3,944,172  (0.490)
430,115
8,046,692 8,046,692

481,297-2,732,416=4A 2,251,119

o
7,565,395
2,732,416
@
@
©)
®

8,046,692 =|__0.510

2,261,233

2,261,233+1,841,287

1 - 0.551= 0.449




v

14 H15.2.14
@
13)
1,049,464 (0.209)
3,667,001
712,292 (0.142)
<
1,298,260 (0.258)
A 1,136,695
1,965,543 (0.391) 221,86
1,358,557 |
5,025,559
221,862-1,358,557=4 1,136,695
@
1.049.464 + 873,856 + 3,888,863 =
(©)
= 1,049,464 =+
®
®)

0.505

( )
( )
13

1,049,464 (0.270)

3,667,001
873,856 (0.225)

( ) 12,380
12,865 1,965,543 (0.505)

196,617
3,888,863 3,888,863

1,049,464+873,856 =

1 - 0.546 = 0.454




(©)

@

®

(©)

®)

15 17 H16.2.17
( )
14 ( )
14
1,205,008 (0.255) 1,205,008 (0.334)
3,401,317 > 3,401,317
600,629 (0.127)
<
565,616 (0.157)
1,087,411 (0-230)
A 1,122,424
( ) 18,988
1,837,289 (0.388) 206,595 11,207 1,837,289 (0.509)
1,329,019
4 176,400
4,730,336 3,607,912 3,607,912
206,595-1,329,019=-4 1,122,424
= _1,205,008 + 565,616 @ + 3,607,912 = 0.491
= 1,205,008 =+ 1.205,008+565,616 = 0.681

= 1-0.681 = 0.319

10




13 H14.1.31

@
12
= 2.74%
( )
12
2.74
)
@
5
= 2.00%
8 9 10 11 12
2.98 2.20 1.50 1.69 1.64 2.00
) ( 10 )
(©))
= 2.74%x 0.551+2.00%x 0.449 = 2.41%
( X + X

11




14 H15.2.14

@
13
= 2.43%
( )
13
2.43
)
@
5
= 1.66%
9 10 11 12 13
2.20 1.50 1.69 1.64 1.29 1.66
) « 10 )
(©)
= 2.43%x 0.546+1.66%x 0.454 = 2.08%
( X + X
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15 17 H16.2.17

@
14
= 1.89%
( )
14
1.89
)
@
5
= 1.45%
(
10 11 12 13 14
1.50 1.69 1.64 1.29 1.13 1.45
) « 10 )
(©)
1.89%x 0.681+1.45%%x 0.319 = 1.75%
( X + X )
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13 H14.1.31
¢))
10 11 12 H12
1.18 0.90 2.35
[3 X X fe)
1.50 1.69 1.64
0.71
B 0.6 2.07 2.07
( ) ) )
12
B (0.6)
3 10 11
@)
8 9 10 11 12
4.19 3.04 1.18 0.90 2.35 2.33
12
A
- 2.07%
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14 H15.2.14

¢))
(
1 12 13 D
0.90 2.47 A0.76
[3 X o X
1.69 1.64 1.29
0.83 -
B 0.6 2.14 - 2.14
( ) ) )
13
B
@)
9 10 11 12 13
3.04 1.18 0.90 2.47 A0.76 1.37
13
A
- 1.37%
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15 17 H16.2.17

¢))
( )
12 13 14 H12 H14
2
2.47 A0.41 2.40
[3 o) X o)
1.64 1.29 1.13
0.83 - 1.27
B 0.6 2.14 . 1.89 2.02
( ) ) ) )
14
B
@)
10 11 12 13 14
1.18 0.90 2.47 A0.41 2.40 1.31
14
- 1.31%
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1 x0.101 - 1= 0.101
1+0.101
2
= X 0_3
=( -0.0917 ) x 0.3-= 0.2725
= x 0.05
=0.2725y x 0.05 = 0.0136
= x 0.123
=0.2725y x 0.123 = 0.0335
1+ 2t 3t = 0.4113
= =_0.4113y =_0.4113y =0.6987
(1-0.4113)y 0.5887y

69.87%

17

0.0917

0.4113

1-0.4113




